
M.+M3x23

C.M2.6x8.6

C.M2.6x8

C.M2.6x5

4

3

2

1

2-1

5

6

7

8

9

9-1 9-2

10

11

12

13

13-1

14

15

16
17

18

19

20

21

22

23

24

24-1

M.+M3x24

N.+M3.5x5

M.+M3x24

C.M3x10

N.+M3.5x51

2

3

4

5

6

7
5-1

5-3

5-2

5-4

1-1

N.+M3x6

1
2

2-1
3
4
5
6
7
8
9

9-1
9-2
10
11
12
13

13-1
14
15
16
17
18
19
20
21
22
23
24

24-1

1
1-1
2
3
4
5

5-1
5-2
5-3
5-4
6
7

(31600)

(41618020)

23024009
73101000
73101020
71531000
72403050
79871010
71521000

23024008
41612000
41826005
41625000
41822000
41601000
41614000
41614100
41604000
41602010
41820001
41807004
41827002
41815009
41618020
41635010
23081706
71614001
41830000
41603000
22681953
41609000
41621000
41611000
45067319
41616000
41624000
41633000
41634000

41618400
22081313
22081200
22081811
41618110
41618900
41618910
41618920
23011308
22281977
41818056
23081706

Type of screw 

C...Cap Screw  M...Oval Fillister-Head Screw
F...Flat Head Screw  N...Round Head Screw  S...Set Screw

DescriptionCode No.No.

DescriptionCode No.No.

O.S. GENUINE PARTS & ACCESSORIES

DescriptionCode No.

The specifications are subject to alteration for improvement without notice.

Spinner Nut
Drive Hub
    Woodruff Key
Shaft Spacer
Housing Assembly Screw Set
Front Housing
Crankshaft Ball Bearing (F)
Front Bearing Retainer
Eccentric Shaft
Rotor Housing Assembly
    Rotor Gear Retaining Screw
    Seal Spring (6pcs.)
Thrust Washer (2pcs.)
Rear Bearing
Carburetor Complete (Type 49PI-RN)
Silencer 49-PI Assembly
    Silence Retaining Screw
Glow Plug Type RE
Housing Assembly Tubular Dowels (2pcs.)
Rear Housing
Nipple No.1
Fixed Gear
Fixed Gear Retaining Screw (4pcs.)
Rear Counter Weight
Rear Counter Weight Retaining Screw
Rear Cover
Rear Cover Retaining Screw (6pcs.)
Engine Mount
    Engine Retaining Screw (3pcs.) 

Throttle Lever
    Throttle Lever Retaining Screw
Carburetor Rotor
Throttle Stop Screw
Carburetor Body
Needle Valve Assembly
    Nozzle Assembly
    Needle Valve Holder Assembly
        Ratchet Spring
    Needle
Carburetor Rubber Gasket
Carburetor Retaining Screw

1/4"-28(L) Spinner Nut
Long Propeller Nut Set
1/4"-M5 Propeller Nut Set For Truturn Spinner
Non-Bubble Weight
Super Filter (L)
M2.6x5 Cap Screw Set (10pcs.)
Long Socket Wrench With Plug Grip


